MODELS SHORT LONG M S FLUSH pey DATE DeschPTIoN
R ODEL LUS 03| 7/22/14 _ |REVISED FOR TOI.
GALLERY GD2su, GResu GD2LU, GR2LU CLOPAY CLASSIC | 9202, HDPC20 LHR TOP BRACKET
SIS DOUBLE HORIZONTAL
ARTISTRY AR2SU AR2LU HOLMES CLASSIC 7202
IDEAL
EXPRESSIONS EDasu EDaLU IDEAL CLASSIC | 8202, MFC68U
ROOM_OPTI
OPTIONAL GLAZING IS IMPACT RESISTANT GLAZING. 2ir.T -
SEE SECTION B-B8 FOR DETAILS. N R INSTALLER (0. Sum) \
(SHORT LITES SHOWN, LONG LITES ALSO AVAIL.)
(GLAZING NOT TO EXCEED 38-1/2" WIDE X 13" TALL) END
STILE
HIS BOOR WEETS OR EXCEEDS THE DESICH 13 GA. GALV. STEEL FLAG BRACKET
LOADS FOR THE ULTIMATE WIND SPEEDS LISTED i T
Tk B Yiimrn Selon AcComm 0 i NLonol, S g supe goiT EACH FASTENED T0'WOD JAMD Wi
M " I * (] * « (|| # [ SEE END HINGE (BASED ON ASCE?-05) FOR THE FOLLOWING EHD LOCK ENGAGES R3] BB 5" WA |- R0nen:
1 Iy 11 1f], I DETAIL. CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR QUTSIDE STILE INTO VERTICAL DOOR
e lglem——= L= L= === Jl HAS 2" OF WIDTH IN BUILDING'S END ZONE, 3) HANDLE TRACK. ONE s HEIGHT | "L"
JA ANY ROOF SLOPE, AND 4) TESTING IN égg.:( S?IEE NOTE; FOR DOORS OVER 12'-0 6-6"1 70"
ACCORDANCE WITH ANSI, 108. HIGH, TRACK CONFIGURATION SHALL —0 ik
= e L g e LOCK BAR OF DOOR. = NOT EXCEED MAXIMUM SPACING 3-_2- ’S—
) SEE INTERMED. HINGE DESIGN PROFESHONA - ENGAGES IN <] PROVIDED. CONSULT FACTORY FOR 8-0" [ 88"
3] -"o DETAIL. ILIIoh 130 140 150 TRACK ON INQI ! ¥ MORE DETALLS IF RQD. 86" | 94"
% - QUTSIDE KEYED LOCK EACH SIDE  LOCK = L) R
g !°C EATEooRY Bc|Bc| B LOCK BAR LOCKING OF DOOR. g ] =0 b
o 5 T0-0" 112"
2 e 2" GALV. STEEL TRACK, M= sl bR e
[ aaaE (Rh e lﬁ'__"_::'lal MEAN ROOF HEIGHT | 25° 15 30 u / TRACK THICKNESS: .060" g-6"11
b ] il ML | e |14 1 -0 1124
@ T I T 119 ! T T=6"[130
€ e 2 20" [136"
rE TWO POINT LOCKING b
¢ 2 INTO TRACK &
§ [T e T — z TYP. 2-1/2"x12 GA. GALV. STEEL TRACK BRACKET.
3 e L ey HCE T T T Er Ty Z (4) TRACK BRACKET PER SIDE. DISTANCE BETWEEN
. H i hoq! el it a TRACK BRACKETS NOT TO EXCEED 30" O.C.
o 1! sgld] |b_,____ Iy |:}_____ Pl |____JJI 7
_____ gkt Appiyled S e | . NOTE; TRACK CONFIGURATION
SOUD DOORS (NO mﬂ OoR DISRS I!ITHNC.I"!TWI. IMPACT-RESISTANT GLAZING ARE ASOVE THE DOOR OPENING
=t T - IPACT O RESISTAN. DOAL IPACY: RESTANT ASSEMBLY CONSISTS OF ALUMINUM JAMB CONF|CURAT|ON DOES NOT AFFECT THE WIND
OPTIONAL QUTSIDE KEYED L FRONT FRAME AND GE LEXAN MR10, AN APPROVED CC! PLASTIC IN ACCORDANCE WITH 7 STOP MOULDING BY DOOR LOAD RATING OF THIS DOOR.
LOCK POSITION IBC/FBC 2606, Kool . . R (T T
NAX. DOOR WOTH = 8'=0" o 5 L T OB 55 5 5 ™ A " on cav, st
. = 9'- WND U 4, 52 8 GA. GALV. STEEL END STILE
INSIDE_ELEVATION SMMLTMISSLE WRACT RESISTANT. |2 N (END STILES HELD BY HINGE SCREWS)
TION IMPACT —RESISTANT ING OPTION 2x6 YELLOW PINE JAMB —
12 GA. GALV. STEEL TRACK
BRACKET FASTENED TO WOOD
TION A—A INSULATED DOOR SECTION. JAMB WITH ONE 5/16"x1-1/2"
W REW PER KET.
-—I 2" THICK DECORATIVE FACADE - A EREPTEN - BEy Bt T— — (HORIZONTAL (TOP) JAI-;B
2" GALV. STEEL TRACK FASTENED 1 V. STEEL INTER. HINGE FASTENED N o NO LOAD FROM DOOR| ]
| "
SIL %()Rl\él-l:“Flkh%O B%?(Nhé%rusg?gg:)? (16) 18-18 = 1/2 TO TRACK BRACKETS. EACH STILE W/(4) EACH §14x5/8" SHEET METAL SCREWS. y ))
. TEK SCREW. BRACKET ATTACHED WITH ONE 7/16" ROUND PUSHNUT IS INSTALLED ON EACH ROLLER SHAFT. . .
27 GA. MIN. STEEL GALV. EXTERIOR SKIN 1.75 1/4"x5/8" BOLT & NUT TWI W
WITH BAKED-ON PRIMER AND A AEEsn G /47%x5/ UT OR TWO 14 GA. GALV. STEEL END HINGE FASTENED TO END STILES W/(4) EACH
BAKED-ON POLYESTER PAINTED TOP COAT. OENSITY 5.4 BCF 1/4" RIVETS. #14x5/8" SHEET METAL SCREWS & (4) 1/4" SELF TAPPING SCREWS.
= L TAINER.
02 B St A PR 2" 10 BALL STEEL ROLLER FASTENER
(1-3/16"x7/16"x4") WITH /— TYPE
1/4™ THICK POLYCARBONATE STEEL OR NYLON TIRE. /1 "
GLAZING.
TCH
osn:‘,‘g’ V't",‘;ﬁc,&f"%“%% 12 GA. GALV. STEEL TOP
ONE SNAP LATCH ON ROLLER BRACKET. EACH MAX. 0.C.
EACH SIDE OF DOOR. 1 BRACKET ATTACHED W/(4)
= #14x5/8" SHEET METAL
SCREWS, IN THE CASE OF GYPSUM WALLBOAROELOCATED AT OR NEAR THE DOOR OPENING PREPARATION QF THER
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: s
TONGUE AND GROOVE JOINTS. 1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 AL SAME ATTACHENT (WObD FRANE Bl DINGS);
HERN Pi MOUNT IRECTLY TO T s O " £
14 GA. GALV. STEEL ROLLER L S G yach MBS NOUNTED DIRECILY 1O The 3/8°%3" LAG SCREWS ON 24" CENTERS. 1-1/8" 0.0. WASHER REQUIRED, LAG SCREWS RERERUCATSAEE
OUTSIDE KEYED END HINGE. EACH FASTENED TO - ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HANDLE STILE END_STILES W/(4) f14x5/8 SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE HORIZONTAL JAMBS DO NOT TRANSFER LOAD. / ~
SHEET METAL SCREWS & (4 : :
1/4x3/4" SELF TAGPING SCREWS. MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW.
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING RTICAL JAMB ATTACHMENT PSL M N MN): .
STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE 3/8"x3" SLEEVE ANCHOR BOLTS ON 22" CENTERS (2.000 PSI MIN. concm-:rE)
OQUTSIDE KEYED LQOCK WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE “'SgHERS INCLUDED WITH SLEEVE ANCHORS.
SNAP |ATCH LOCK_OPTION OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, . " ‘ NT.E 1/2 MAX, 0.C.
THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED 1/4"x3" TAPCON SCREWS ON 19" CENTERS (2,000 PSI MIN. CONCRETE) OR 10 i 1o i

CENTERS (C-90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

3" TALL x 20 GA. GALV. STEEL

U-BAR. ONE PER DOOR LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE

PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS
38?}5’..’.“ -sé’é"%.“é,i‘_ m-ro,\c%"w OF THE SUPPORTING STRUCTURE.

WITH (2) 1/4"x3/4" SELF . :
A LICENSED DESIGN =

— TAPPIN REWS A .
HINGE ?.oscgn%ms T EACH 172* FROM EDGE THER NFIGURATIONS: REFER TO DASMA TDS-161. /
‘——_Ll—_ PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR .

SECTION A-A JAMB CONFIGURATIONS. 3 e ; .

oo iLf‘,- ~

rh\Fi\“

* 27 GA. MIN STEEL GALV. INTERIOR SKIN '.’ ) 4
g VT K BAKEDON PRMER. AND. A N : DESIGN “LOABB!. ¥38/0° P.S.F. & —44.0 P.SF.
BAKED-ON POLYESTER PAINTED TOP COAT. DESIGN ENGINEER: MARK W. WESTERFIELD, P.E. TEST LGADS +57.Q R.S:F. & —66 0 P.A.F
kﬂﬂ FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 Q& S.F.
13 GA. GALV. STEEL BOTTOM BRACKET. HANUFAC TURING ahnm.cr CODE v:uumﬂ’mnre MAXIMUM DOOR SIZE:
ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS. £ nlo 4 CLOPAY BUILDING PRODUCTS COMPANY DSU-4F471° 1ty e PEB[" 9'0'W X 16'0"H
8585 DUKE BLVD. DATE: fin Tw ==
=D p y MASON, OH 45040 8/28/07, s priiie.
ALUMINUM EXTRUSION e DRAWN BY: : G Y 2".PUR SC +38/-44 PSF
& VINYL WEATHERSTRIP, Bmldlng Products (513)770-4800 BFA : DRAWVING NUMBER: VER:
Y:
Company s B 104432 T0I




